

Provided for non-commercial research and educational use.  
Not for reproduction, distribution or commercial use.

# Mathematica Balkanica

Mathematical Society of South-Eastern Europe  
A quarterly published by  
the Bulgarian Academy of Sciences – National Committee for Mathematics

---

The attached copy is furnished for non-commercial research and education use only. Authors are permitted to post this version of the article to their personal websites or institutional repositories and to share with other researchers in the form of electronic reprints.

Other uses, including reproduction and distribution, or selling or licensing copies, or posting to third party websites are prohibited.

For further information on Mathematica Balkanica visit the website of the journal  
<http://www.mathbalkanica.info>

or contact:

Mathematica Balkanica - Editorial Office;  
Acad. G. Bonchev str., Bl. 25A, 1113 Sofia, Bulgaria  
Phone: +359-2-979-6311, Fax: +359-2-870-7273,  
E-mail: [balmat@bas.bg](mailto:balmat@bas.bg)

## Transformations of Discrete Hypergeometric Functions

Mumtaz Ahmad Khan

Presented by P. Kenderov

In 1972, C. J. Harman [2] introduced a discrete analogue  $z^{(n)}$  of the classical power function  $z^n$ . Later, in 1979 it appeared in published form [6]. Using these functions  $z^{(n)}$ , the author [9] defined and studied the discrete hypergeometric functions  ${}_2M_1[(a_r); (b_s); q, z]$ . The present paper deals with certain transformations and expansions of discrete hypergeometric functions.

### 1. Introduction

C. J. Harman [2] defined a discrete analogue  $z^{(n)}$  of the classical power function  $z^n$ , corresponding to the  $q$ -analytic function theory. Using  $z^{(n)}$ , in [9] we defined and studied a discrete analogue  ${}_2M_1[(a_r); (b_s); q, z]$  of the  $q$ -hypergeometric functions  ${}_2\Phi_1^{(q)}[(a_r); (b_s); z]$ . The aim of the present paper is to obtain transformations and expansions of  ${}_2M_1[(a_r); (b_s); q, z]$ .

The following definitions and notations are used in this paper:

$$(1.1) \quad (q^\theta)_n = (1 - q^\theta)(1 - q^{\theta+1}) \dots (1 - q^{\theta+n-1}),$$

$$(1.2) \quad (q^\Phi)_n = (1 - q^\Phi)(1 - q^{\Phi+1}) \dots (1 - q^{\Phi+n-1}),$$

where  $\theta = x \frac{\partial}{\partial x}$ ,  $\Phi = y \frac{\partial}{\partial y}$ ,  $q^\theta = \exp(\theta \log q)$ ,  $q^\Phi = \exp(\Phi \log q)$ ,

$$(1.3) \quad \nabla_q(h) = \frac{\Gamma_q(h) \Gamma_q(h + \theta + \Phi)}{\Gamma_q(h + \theta) \Gamma_q(h + \Phi)}, \quad \Delta_q(h) = \frac{\Gamma_q(h + \theta) \Gamma_q(h + \Phi)}{\Gamma_q(h) \Gamma_q(h + \theta + \Phi)}.$$

It is to be noted that the operations on  $x^m y^n$  by  $\nabla_q(h)$ ,  $\Delta_q(h)$ ,  $\nabla_q(h) \Delta_q(k)$  respectively and the operations by their corresponding series equivalent always yield terminating series and finite  $q$ -products. In particular,

$$(1.4) \quad \nabla_q(h) x^m y^n = \frac{(q^h)_{m+n}}{(q^h)_m (q^h)_n} x^m y^n$$

and

$$(1.5) \quad \Delta_q(h)x^m y^n = \frac{(q^h)_m (q^h)_n}{(q^h)_{m+n}} x^m y^n.$$

In this paper we use the following summation formulae:

$$(1.6) \quad e_q(x) = \sum_{r=0}^{\infty} \frac{x^r}{(q)_r} = \frac{1}{(1-x)_{\infty}},$$

$$(1.7) \quad E_q(x) = \sum_{r=0}^{\infty} \frac{x^r q^{\frac{1}{2}r(r-1)}}{(q)_r} = (1-x)_{\infty},$$

$$(1.8) \quad {}_1\Phi_0[q^a; -; z] = \sum_{r=0}^{\infty} \frac{(q^a)_r z^r}{(q)_r} = \frac{1}{(1-z)_a}.$$

The following basic double hypergeometric functions will also be used in this paper:

$$(1.9) \quad \begin{aligned} & \Phi^{(1)}[a; b, b'; c; q, x, y] \\ &= \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(q^a)_{m+n} (q^b)_m (q^{b'})_n x^m y^n}{(q)_m (q)_n (q^c)_{m+n}}, \end{aligned}$$

$$(1.10) \quad \begin{aligned} & \Phi^{(2)}[a; b, b'; c, c'; q, x, y] \\ &= \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(q^a)_{m+n} (q^b)_m (q^{b'})_n x^m y^n}{(q)_m (q)_n (q^c)_m (q^{c'})_n}, \end{aligned}$$

$$(1.11) \quad \begin{aligned} & \Phi^{(3)}[a, a'; b, b'; c; q, x, y] \\ &= \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(q^a)_m (q^{a'})_n (q^b)_m (q^{b'})_n x^m y^n}{(q)_m (q)_n (q^c)_{m+n}}, \end{aligned}$$

$$(1.12) \quad \begin{aligned} & \Phi^{(4)}[a; b; c, c'; q, x, y] \\ &= \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(q^a)_{m+n} (q^b)_{m+n} x^m y^n}{(q)_m (q)_n (q^c)_m (q^{c'})_n}, \end{aligned}$$

$$(1.13) \quad \begin{aligned} & \Phi^{(q)} \left[ \begin{array}{c|ccc} x & (b) & (c) & \\ & (a) & & \\ y & (e) & (d) & (f) \end{array} \right] \\ &= \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(q^{(a)})_{m+n} (q^{(b)})_m (q^{(c)})_n x^m y^n}{(q)_m (q)_n (q^{(d)})_{m+n} (q^{(e)})_m (q^{(f)})_n}. \end{aligned}$$

Further, we are to use the following results established by G. F. Andrews [1].

$$(1.14) \quad \Phi^{(1)}[a, b, b'; c; x, y] = \frac{(q^a)_\infty (xq^b)_\infty (yq^{b'})_\infty}{(q^c)_\infty (x)_\infty (y)_\infty} {}_3\Phi_2 \left[ \begin{matrix} q^{c-a}, x, y; q^a \\ xq^b, xq^{b'} \end{matrix} \right]$$

$$(1.15) \quad \begin{aligned} & \Phi^{(2)}[a; b, b'; c, c'; x, y] \\ &= \frac{(q^b)_\infty (xq^a)_\infty}{(q^c)_\infty (x)_\infty} \sum_{n=0}^{\infty} \sum_{r=0}^{\infty} \frac{(q^a)_n (q^{b'})_n (q^{c-b})_r (x)_r y^n q^{nr}}{(q)_n (q)_r (q^{c'})_n (xq^a)_{n+r}} \end{aligned}$$

and

$$(1.16) \quad \begin{aligned} & \Phi^{(3)}[a, a'; b, b'; c; x, y] \\ &= \frac{(q^a)_\infty (xq^b)_\infty}{(q^c)_\infty (x)_\infty} \sum_{n=0}^{\infty} \sum_{r=0}^{\infty} \frac{(q^{a'})_n (q^{b'})_n (x)_r (q^{c-a})_{n+r} y^n q^{nr}}{(q)_n (q)_r (q^{c-a})_n (xq^b)_r} \end{aligned}$$

From (1.14), G. E. Andrews deduced that

$$(1.17) \quad \Phi^{(1)}[b'/x; b, b'; b+b'; x, y] = \frac{(xq^b)_\infty (q^{b'})_\infty (yq^{b'/x})_\infty}{(q^{b+b'})_\infty (x)_\infty (y)_\infty}$$

and

$$(1.18) \quad \begin{aligned} & \Phi^{(1)}[-q/y; b, xq/y^2; -bqx/y; x, y] \\ &= \frac{(xq^b)_\infty (-q)_\infty (x^2q^2/y^2)_{\infty; q^2} (xq^c/y^2)_{\infty; q^2}}{(-xq^{1+b}/y)_\infty (x)_\infty (y)_\infty (xq/y)_\infty (x)_{\infty; q^2}} \end{aligned}$$

G. E. Andrews also gave the following results as corollaries of (1.15) and (1.16) respectively:

$$(1.19) \quad \Phi^{(2)}[a; b, b'; c, a; x, y] = \frac{(q^b)_\infty (xq^a)_\infty}{(q^c)_\infty (x)_\infty} \Phi^{(3)}[c/b, 0; x, b'; ax; b, y]$$

and

$$(1.20) \quad \begin{aligned} & \Phi^{(3)}[a, a'; b, b'; a+a'; x, y] \\ &= \frac{(q^a)_\infty (xq^b)_\infty}{(q^{a+a'})_\infty (x)_\infty} \Phi^{(2)}[a'; x, b'; bx, 0; a, y]. \end{aligned}$$

## 2. Discrete hypergeometric functions and their transformations

The author [9] defined the discrete hypergeometric function  ${}_rM_s[(a_r); (b_s); q, z]$  by means of the following relations:

$$(2.1) \quad {}_rM_s[(a_r); (b_s); q, z] = \sum_{n=0}^{\infty} \frac{(q^{a_1})_n (q^{a_2})_n \dots (q^{a_r})_n z^{(n)}}{(q)_{n+1} (q^{b_1})_n (q^{b_2})_n \dots (q^{b_s})_n}$$

where  $z^{(n)} = \sum_{j=0}^n \binom{n}{j}_q x^{n-j} (iy)^j$ ,  
 or alternatively

$$(2.2) \quad {}_rM_s[(a_r); (b_s); q, z] = \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} \frac{(q^{a_1})_{n+k} \dots (q^{a_r})_{n+k} x^n (iy)^k}{(q)_n (q)_k (q^{b_1})_{n+k} \dots (q^{b_s})_{n+k}}$$

We now obtain certain transformation of discrete hypergeometric functions. Using (1.4) and (1.5), we can easily write

$$(2.3) \quad {}_1M_0[a; -; q, z] = \nabla_q(a) {}_1\Phi_0[q^a; -; x] {}_1\Phi_0[q^a; -; iy],$$

$$(2.4) \quad = \nabla_q(a) \left\{ \frac{1}{(1-x)_a (1-iy)_a} \right\},$$

$$(2.5) \quad {}_0M_1[-; a; q, z] = \Delta_q(a) {}_0\Phi_1[-; q^a; x] {}_0\Phi_1[-; q^a; iy],$$

$$(2.6) \quad {}_1M_1[a; b; q, z] = \nabla_q(a) \Delta_q(b) {}_1\Phi_1[q^a; q^b; x] {}_1\Phi_1[q^a; q^b; iy],$$

$$(2.7) \quad = \nabla_q(a) \Phi \left[ \begin{matrix} x & | & - & \\ & a & ; & a \\ & & b & \\ iy & | & - & ; & - \end{matrix} \right]$$

$$(2.8) \quad = \Delta_q(a) \Phi \left[ \begin{matrix} x & | & a & \\ & - & ; & - \\ & & - & \\ iy & | & b & ; & b \end{matrix} \right],$$

$$(2.9) \quad {}_2M_1[a, b; c; q, z] = \nabla_q(b) \Phi^{(1)}[a; b, b; c; x, iy]$$

$$(2.10) \quad = \nabla_q(b) \Delta_q(c) \Phi^{(2)}[a; b, b; c, c; q, x, iy]$$

$$(2.11) \quad = \nabla_q(a) \nabla_q(b) \Phi^{(3)}[a, a; b, b; c; q, x, iy]$$

$$(2.12) \quad = \Delta_q(c) \Phi^{(4)}[a; b; c, c; q, x, iy],$$

and in general,

$${}_rM_s[(a_r); (b_s); q, z] = \prod_{j=1}^r \nabla_q(a_j) \prod_{k=1}^s \Delta_q(b_k) {}_r\Phi_s^{(q)}[(a_r); (b_s); x]$$

$$(2.13) \quad \times {}_r\Phi_s^{(a)} [(a_r); (b_s); iy],$$

$$(2.14) \quad {}_rM_s [(a_r); (b_s); q, z] = \nabla_q(a_m)\Phi^{(a)} \left[ \begin{matrix} x & & (a_r)' & & \\ & a_m & ; & a_m & \\ & y & - & - & \\ & & & (b_s)' & \end{matrix} \right]$$

$$(2.15) \quad = \Delta_q(b_n)\Phi^{(a)} \left[ \begin{matrix} x & & (a_r)' & & \\ & - & ; & - & \\ & iy & b_n & ; & b_n \\ & & & (b_s)' & \end{matrix} \right]$$

$$(2.16) \quad = \nabla_q(a_m)\Delta_q(b_n)\Phi^{(a)} \left[ \begin{matrix} x & & (a_r)' & & \\ & a_m & ; & a_m & \\ & iy & b_n & ; & b_n \\ & & & (b_s)' & \end{matrix} \right]$$

where  $1 \leq m \leq r, 1 \leq n \leq s$  and  $(a_r)'$  and  $(b_s)'$  denote the omission of  $a_m$  and  $b_n$  in the sequences  $(a_r)$  and  $(b_s)$  respectively i.e.  $(a_r)'$  and  $(b_s)'$  denote  $a_1, a_2, \dots, a_{m-1}, a_{m+1}, \dots, a_r$  and  $b_1, b_2, \dots, b_{n-1}, b_{n+1}, \dots, b_s$  respectively.

### 3. Further transformations and expansions:

In this section we shall obtain some further transformations and certain expansions of the  ${}_rM_s$ -functions using the results (1.14-20) of G. E. Andrews [1]. Using (1.14-16) in (2.9-12), we have the following simple operational relations:

$$(3.1) \quad {}_2M_1[a, b; c; q, z] = \nabla_q(b) \left\{ \frac{(q^a)_\infty (xq^b)_\infty (iyq^b)_\infty}{(q^c)_\infty (x)_\infty (iy)_\infty} {}_3\Phi_2 \left[ \begin{matrix} q^{c-a}, x, iy; q^a \\ xq^b, iyq^b \end{matrix} \right] \right\}$$

$$(3.2) \quad = \nabla_q(b)\Delta_q(c) \left\{ \frac{(q^b)_\infty (xq^a)_\infty}{(q^c)_\infty (x)_\infty} \sum_{n=0}^{\infty} \sum_{r=0}^{\infty} \frac{(q^a)_n (q^b)_n (q^{c-b})_r (x)_r (iy)^n q^{br}}{(q)_n (q)_r (q^c)_n (xq^a)_{n+r}} \right\},$$

$$(3.3) \quad = \nabla_q(a)\nabla_q(b) \left\{ \frac{(q^a)_\infty (xq^b)_\infty}{(q^c)_\infty (x)_\infty} \sum_{n=0}^{\infty} \sum_{r=0}^{\infty} \frac{(q^a)_n (q^b)_n (x)_r (q^{c-a})_{n+r} (iy)^n q^{ar}}{(q)_n (q)_r (q^{c-a})_n (xq^b)_r} \right\}$$

Using (1.19-20), we find that (2.10) for  $c=a$  and (2.11) for  $c=2a$  yield the following:

$$\begin{aligned}
 & {}_1M_0[b; -; q, z] = {}_2M_1[a, b; a; q, z] \\
 (3.4) \quad & = \nabla_q(b)\Delta_q(a) \left\{ \frac{(q^b)_\infty (xq^a)_\infty}{(q^a)_\infty (x)_\infty} \Phi^{(3)}[a/b, 0; x, b; ax; q, b; iy] \right\}
 \end{aligned}$$

$$(3.5) \quad {}_2M_1[a, b; 2a; q, z] = \nabla_q(a)\nabla_q(b) \left\{ \frac{(q^a)_\infty (xq^b)_\infty}{(q^{2a})_\infty (x)_\infty} \Phi^{(2)}[a; x; b; xb, 0; q, a, iy] \right\}$$

Similarly, using (1.17) we find that (2.9) for  $a=b/x$  and  $c=2b$  gives

$$(3.6) \quad {}_2M_1[b/x, b; 2b; q, z] = \nabla_q(b) \left\{ \frac{(xq^b)_\infty (q^b)_\infty (iyq^b/x)_\infty}{(q^{2b})_\infty (x)_\infty (iy)_\infty} \right\}.$$

Further, using (1.6-8), we obtain the following expansion formulae for  ${}_rM_s[(a_r); (b_s); q, z]$ :

$$(3.7) \quad {}_rM_s[(a_r); (b_s); q, z] = (q^{a_m})_\infty \sum_{j=0}^{\infty} \frac{q^{ja_m}}{(q)_j} {}_{r-1}M_s[(a_r)'; (b_s); q, zq^j],$$

$$(3.8) \quad {}_rM_s[(a_r); (b_s); q, z] = \frac{1}{(q^{b_n})_\infty} \sum_{j=0}^{\infty} \frac{(-1)^j q^{\frac{1}{2}j(j-1) + jb_n}}{(q)_j} {}_{r-1}M_{s-1}[(a_r)'; (b_s)'; q, zq^j]$$

and

$$\begin{aligned}
 & {}_rM_s[(a_r); (b_s); q, z] \\
 (3.9) \quad & = \frac{(q^{a_m})_\infty}{(q^{b_n})_\infty} \sum_{j=0}^{\infty} \frac{(q^{b_n - a_m})_j q^{ja_m}}{(q)_j} {}_{r-1}M_{s-1}[(a_r)'; (b_s)'; q, zq^j],
 \end{aligned}$$

where  $1 \leq m \leq r$ ,  $1 \leq n \leq s$ ,  $(\lambda z)^{(n)} \equiv \lambda^n z^{(n)}$  and  $(a_r)'$  and  $(b_s)'$  denote the omission of  $a_m$  and  $b_n$  in the sequences  $(a_r)$  and  $(b_s)$  respectively i.e.  $(a_r)'$  and  $(b_s)'$  denote  $a_1, a_2, \dots, a_{m-1}, a_{m+1}, \dots, a_r$  and  $b_1, b_2, \dots, b_{n-1}, b_{n+1}, \dots, b_s$ , respectively.

As particular cases of (3.7-9), we have the following interesting results:

$$(3.10) \quad {}_1M_0[a; -; q, z] = \frac{(q^a)_\infty}{(x)_\infty (iy)_\infty} {}_2\Phi_0 \left[ \begin{matrix} x, iy; q^a \\ -; \end{matrix} \right],$$

$$(3.11) \quad {}_0M_1[-; b; q, z] = \frac{1}{(q^b)_\infty (x)_\infty (iy)_\infty} {}_2\Phi_0 \left[ \begin{matrix} x, iy; -q^{b-1} \\ -; q \end{matrix} \right],$$

$$(3.12) \quad {}_1M_1[a; b; q, z] = (q^a)_\infty \sum_{j=0}^{\infty} \frac{q^{ja}}{(q)_j} {}_0M_1[-; b; q, zq^j]$$

$$(3.13) \quad = \frac{1}{(q^b)_\infty} \sum_{j=0}^{\infty} \frac{(-1)^j q^{\frac{1}{2}j(j-1)+jb}}{(q)_j} {}_1M_0[a; -; q, zq^j]$$

$$(3.14) \quad = \frac{(q^a)_\infty}{(q^b)_\infty (x)_\infty (iy)_\infty} {}_3\Phi_0 \left[ \begin{matrix} q^{b-a}, x, iy; q^a \\ -; \end{matrix} \right],$$

$$(3.15) \quad {}_2M_1[a, b; c; q, z] = (q^a)_\infty \sum_{j=0}^{\infty} \frac{q^{ja}}{(q)_j} {}_1M_1[b; c; q, zq^j],$$

$$(3.16) \quad = \frac{1}{(q^c)_\infty} \sum_{j=0}^{\infty} \frac{(-1)^j q^{\frac{1}{2}j(j-1)+jc}}{(q)_j} {}_2M_0[a, b; -; q, zq^j],$$

$$(3.17) \quad = \frac{(q^a)_\infty}{(q^c)_\infty} \sum_{j=0}^{\infty} \frac{(q^{c-a})_j q^{ja}}{(q)_j} {}_1M_0[b; -; q, zq^j],$$

Using (3.3-4), the results (3.13) and (3.17) can alternatively be written in the more elegant form

$$(3.18) \quad {}_1M_1[a; b; q, z] = \nabla_q(a) \left\{ \frac{(xq^a)_\infty (iyq^a)_\infty}{(q^b)_\infty (x)_\infty (iy)_\infty} {}_2\Phi_2 \left[ \begin{matrix} x, iy; -q^{b-1} \\ xq^a, iyq^a; q \end{matrix} \right] \right\};$$

and

$$(3.19) \quad {}_2M_1[a, b; c; q, z] = \nabla_q(b) \left\{ \frac{(xq^b)_\infty (iyq^b)_\infty (q^a)_\infty}{(x)_\infty (iy)_\infty (q^c)_\infty} {}_3\Phi_2 \left[ \begin{matrix} q^{c-a}, x, iy; q^a \\ xq^b, iyq^b; \end{matrix} \right] \right\}$$

respectively.

Proof of (3.7). The left hand side of (3.7) equals (for  $1 \leq m \leq r$ ):

$$\begin{aligned} & (q^{am})_\infty \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} \frac{(q^{(a_r)'} )_{n+k} x^n (iy)^k}{(q)_n (q)_k (q^{(b_s)'})_{n+k}} x \frac{1}{(q^{n+k+am})_\infty} \\ &= (q^{am})_\infty \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} \frac{(q^{(a_r)'} )_{n+k} x^n (iy)^k}{(q)_n (q)_k (q^{(b_s)'})_{n+k}} \sum_{j=0}^{\infty} \frac{q^{j(n+k+am)}}{(q)_j} \\ &= (q^{am})_\infty \sum_{j=0}^{\infty} \frac{q^{jam}}{(q)_j} \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} \frac{(q^{(a_r)'} )_{n+k} (xq^j)^n (iyq^j)^k}{(q)_n (q)_k (q^{(b_s)'})_{n+k}} \\ &= (q^{am})_\infty \sum_{j=0}^{\infty} \frac{q^{jam}}{(q)_j} {}_{r-1}M_s[(a_r)'; (b_s); q, zq^j]. \end{aligned}$$

Proofs of (3.8) and (3.9) follow on similar lines.



## References

- [1] G. E. Andrews. Summation and transformation for basic Appell series. *J. London Math. Soc.* (2), 4, 1972, 618-622.
- [2] C. J. Harman. A discrete analytic theory for geometric difference functions. Thesis approved for Ph. D. degree of Adelaide University, 1972.
- [3] C. J. Harman. A note on a discrete analytic function. *Bull. Austral. Math. Soc.*, 10, 1974, 123-134.
- [4] C. J. Harman. A new definition of discrete analytic functions. *Bull. Austral. Math. Soc.*, 10, 1974, 281-291.
- [5] C. J. Harman. Discrete Geometric Function Theory. I. *Applicable Analysis*, 7, 1978, 315-336.
- [6] C. J. Harman. Discrete Geometric Function Theory. II. *Applicable Analysis*, 9, 1979, 191-203.
- [7] C. J. Harman. Polynomials in discrete geometric function theory. *Ganita*, 31, (No 1), 1980, 93-101.
- [8] C. J. Harman. Discrete Analysis on a Radial Lattice. *J. Math. Anal. Appl.*, 79, (No 2), 1981, 323-330.
- [9] M. A. Khan. Contributions to the theory of Basic Hypergeometric Series. Ph.D. Thesis, University of Lucknow, 1977.

*Department of Applied Mathematics,  
Zakir Hussain College of Engineering and Technology,  
Faculty of Engineering,  
Aligarh Muslim University,  
Aligarh-202002, (U.P.),  
INDIA*

*Received 23.07.1991*